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Preparation of Sodium ethylenediaminetetraacetatoferrate (lll)
trihydrate Na [Fe (EDTA)].3H,0:

Dissolve (0.4 g) of sodium hydroxide in a beaker consists of (10 mL) of water
then add (3.8g) of Na,H,EDTA.2H,0 solution to the beaker. Heat the
mixture gently until the solid dissolves.

Dissolve (2.5 g) of iron(lll) chloride hexa hydrate in (5 mL) of water in other
beaker.
Pour the iron(lll) chloride solution into the beaker( step 1), stirr the mixture.

‘Warm the mixture until the boiling , evaporate gently some of the water until a
yellow powder precipitates appears , this may take about five minutes.

Let the mixture cool, collect and filter the precipitate , wash it well with ice-cold
water and ethanol , Dry the resulted crystals, weight and calculate the ratio
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’ (FelH0)"(aq)  EDTAT (a) 3 [F(EOTAY (aq) + 6401)

Questions :

1) What is

the benefit of using NaOH?

2) Which of these ligands is a chelate (OH-, CN-,
and H,NCH,CH,NH)?
3) Does this experiment depend on oxidation
and reduction principle?

4) Write down this complex preparation

equations




